Dptrack [ GeV

Ratio to CDF

2.5

1.5

0.5

0.5

1960 GeV ppbar Underlying Event

= T L N N B B B T2

— -1 C
- Average p_Vs p_ (TRNS) (| <1, p_> 0.5 GeV) 12
B 1=
— m CDF _qu
- --O-- Herwig++ 2.5.1 default —N
—  --3-- Herwig 7.2.0 default 1<
. : )
B ! o
— | 1=
- ! |
- o T
- @ mke
_— o
__ E,'l: “\ ﬁ] - n [ | — §
- o [ | — 5
_ ol “'il.lll.... " " - " -2
- gnunf’ 1%
I 1 II‘ : ] e
ﬁ§1~ At =
I 1 \E ‘: : U
NG : Je
- O 18
— H — v
B : 1o
X 1o
— | 18
N | | | L K | | | | | | | | | | | | | | ] -

:l T T T T | : T T T T | T T T T | T T T T |:
— o =2

s o =

- Ei P? ]
| ézl J:- :E _ 1

¥ CD :
_E? - S ]
B JE- \\ \l‘E |
L c‘p ________ o) —0.5
I T S SR T I—: ......... I T S SR T I T S SR T l
0 100 200 30 40

pT(Ieading jet) / GeV



	Contents
	Page 1


